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Partl: Multiple-Choice Questions: Select the best answer for the following questions,
(2% for each question) (8%)
1. Which of the following costs incurred with developing computer software for
internal use should be capitalized?
Evaluation of alternatives.

Coding.
Training.
. Maintenance.

aeow

2. The accounting for fair value hedges records the derivative at its
. amortized cost.

®

. carrying value.
.. fair value.
. historical cost.

apo o

3. Gains or losses on cash flow hedges are
a. ignored completely.
. recorded in equity, as part of other comprehensive income.
. reported directly in net income.
. reported directly in retained earnings.
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Part II:  Multiple-Choice Questions: Select the best answer for the following questions.
(4% for each question) (72%)
1. Miller Company purchased $400,000 of 10% bonds of Sun Co. on January 1,

2010, paying $376,100. The bonds mature January 1, 2020; interest is payable
each July 1 and January 1. The discount of $23,900 provides an effective yield of
11%. Miller Company uses the effective-interest method and plans to hold these
bonds to maturity. For the year ended December 31, 2010, Miller Company
should report interest revenue from the Sun Co. bonds of:

. $42,392.

. $41,400.

. $41,368.

. $40,000.

coow
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2. Cage Company is constructing a building. Construction began on January 1 and
was completed on December 31. Expenditures were $2,400,000 on March 1,
$1,980,000 on June 1, and $3,000,000 on December 31. Cage Company borrowed
$1,200,000 on January 1 on a 5-year, 12% note to help finance construction of the
building. In addition, the company had outstanding all year a 10%, 3-year,
$2,400,000 note payable and an 11%, 4-year, $4,500,000 note payable.
What amount of interest should be charged to expense?
a. $382,792
b. §735,000
c. $526,792
d. $415,192

w

. George Company received $40,000 in cash and a used computer with a fair value of
$120,000 from Evan Corporation for George Company's existing computer having a
fair value of $160,000 and an undepreciated cost of $150,000 recorded on its books.
The ion has no ot ib: How much gain should George
recognize on this exchange, and at what amount should the acquired computer be
recorded, respectively?

a. $0 and $110,000

b. $2,500 and $112,500
c. $10,000 and $120,000
d. $40,000 and $150,000

4. Shell Inc. bought a machine on January 1, 2000 for $300,000. The machine had an

expected life of 20 years and was expected to have a salvage value of $30,000. On

July 1, 2010, the company reviewed the potential of the machine and determined

that its undiscounted future net cash flows totaled $150,000 and its discounted

future net cash flows totaled $105,000. If no active market exists for the machine
and the company does not plan to dispose of it, what should Shell Inc. record as an

impairment loss on July 1, 2010?

a. $0

b. §$8,250

c. $15,000

d. $53,250

5. During 2011, Emerson Company purchased the net assets of Fun Corporation for

$1,000,000. On the date of the transaction, Fun had $300,000 of liabilitics. The
fair value of Fun 's assets when acquired were as follows:

Current assets § 540,000
Noncurrent assets 1,260,000

$1,800,000
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How should the $500,000 difference between the fair value of the net assets
acquired ($1,500,000) and the cost ($1,000,000) be accounted for by Emerson?
a. The $500,000 difference should be credited to retained earnings.
b. The $500,000 difference should be recognized as a gain.
c. The current assets should be recorded at $540,000 and the noncurrent
assets should be recorded at $760,000.
d. A deferred credit of $500,000 should be set up and then amortized to
income over a period not to exceed forty years.

o

Gamble Company acquired a patent on an oil extraction technique on January 1,
2009 for $5,000,000. It was expected to have a 10 year life and no residual value.
Gamble uses straight-line amortization for patents. On December 31, 2010, the
expected future cash flows expected from the patent were expected to be $600,000
per year for the next eight years. The present value of these cash flows, discounted
at Gamble market interest rate, is $2,800,000. At what amount should the patent
be carried on the December 31, 2010 balance sheet?

a. $5,000,000

b. $4,800,000

¢ $4,000,000

d. $2,800,000

=

. On January 3, 2010, Penn Corp. owned a machine that had cost $200,000. The
accumulated depreciation was $120,000, estimated salvage value was $12,000, and
fair market value was $320,000. On January 4, 2010, this machine was irreparably
damaged by Pine Corp. and became worthless. In October 2010, a court awarded
damages of $320,000 against Pine in favor of Penn. At December 31, 2010, the
final outcome of this case was awaiting appeal and was, therefore, uncertain.
However, in the opinion of Penn’s attorney, Pine’s appeal will be denied. At
December 31, 2010, what amount should Penn accrue for this gain contingency?

a. $320,000.
b. $260,000.
¢ $200,000.
d. $0.

8. During 2009, Macy Co. introduced a new line of machines that carry a three-year
warranty against manufacturer’s defects. Based on industry experience, warranty
costs are estimated at 2% of sales in the year of sale, 4% in the year after sale, and
6% in the second year after sale. Sales and actual warranty expenditures for the first

three-year period were as follows: (% @1 ﬁiﬂ 8 }#m&#g)
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Sales Actual Warranty Expenditures

2008 $ 400,000 $ 6,000

2009 1,000,000 30,000

2010 1,400,000 90,000

$2,800,000 $126,000

What amount should Macy Co. report as a liability at December 31, 20107
a $0
b. $10,000
c. $136,000
d. $210,000

9. During 2009, Martin Company purchased 20,000 shares of Wood Corp. common
stock for $315,000 as an available-for-sale investment. The fair value of these
shares was $300,000 at December 31, 2009. Martin sold all of the Wood stock for
$17 per share on December 3, 2010, incurring $14,000 in brokerage commissions.

Martin Company should report a realized gain on the sale of stock in 2010 of
a. $11,000.
b. $25,000.
c. $26,000.
d. $40,000.

10. On December 31, 2009, Connell Co. purchased equity securities as trading
securities. Pertinent data are as follows:

Fair Value
Security Cost. At 12/31/10
A $132,000 $117,000
B 168,000 186,000
C 288,000 258,000

On December 31, 2010, Connell transferred its investment in security C from
trading to available-for-sale because Connell intends to retain security C as a
long-term investment. What total amount of gain or loss on its securities should be
included in Connell's income statement for the year ended December 31, 2010?

a. $3,000 gain.

b. $27,000 loss.

c. $30,000 loss.

4. $45,000 loss.
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11. Palm Construction Company had a contract starting April 2010, to construct a
$15,000,000 building that is expected to be completed in September 2011, at an
estimated cost of $13,750,000. At the end of 2010, the costs to date were
$6,325,000 and the estimated total costs to complete had not changed. The
progress billings during 2010 were $3,000,000 and the cash collected during 2010
was $2,000,000. Palm uses the percentage-of-completion method. At~ December
31, 2010, Palm would report Construction in Process in the amount of

a. $6,900,000.
b. $6,325,000.
¢ $5,900,000.
d. $575,000.

=
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a. $460,000
b. $466, 000
c. $490,000
d. $500, 000 -
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a. 0.90

b. 1.35

c. 1.02

d. 1.67
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a. $32,000 $(300,000)  $550,000
b. (58,0000 (260,000) 600, 000
c 32,000 — 250. 000
d. (18,0000 — 300, 000
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. $160, 000
. $120, 000
. 144,000
. $190, 000

p o TP
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a. $50,000

b. $25, 000

c. $10,000

d. 16,667

LEPUEY S S DS TV SRR P PP T T 37
ARBZRERT  HRE 98 5 8 A b B s $i0 2R BRA 2,000
B EREAEAXTMEMR $20, A EHXAFHAERLD 0% 2
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HLBAAR B
a. $40,000
b. $0
c. $100,000
d. $60,000
18, RAnd @l 98 4 1 A | 8 #Han 27 ORI SRR A 4 R B0k 0 08 &
BA M R Rk T
¢ S
#% (1/1) $ 20,000 $33,000
K 147, 000 180, 000
e ] 40,000
iR 10, 000
W % 183, 000

9841 8 1 AethMaaeck 100012 £ 31 8 ehdp Mk 120 98 K
HRAABSD? (RAFREHUHRY 240)
a. $34,280
b. $41, 400
c. $34,660
d $48, 320
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Partlil: Problems (20%)
Problem 1 (10%)
The net changes in the balance sheet accounts of Appliance, Inc. for the year 2009
are shown below.
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Accounts Debit Credit
Short-term investments $72,000
Accounts receivable 85,000
Allowance for doubtful accounts $ 5,000
Inventory 20,000
Investment in subsidiary (equity method) 25,000
Plant and equipment 80,000
Accumulated depreciation 25,000
Accounts payable 13,000
Accrued liabilities 9,000
8% convertible bonds 30,000
Retained Earnings—Unappropriated 12,000

An analysis of the Retained Earnings—Unappropriated account follows:

Retained earnings unappropriated, December 31, 2008 $300,000
Add: Netincome 127,000
Total $ 427,000
Deduct: Cash dividends $65,000
Stock dividend 50,000 ___ 115,000
Retained earnings unappropriated, December 31, 2009 $312,000
1 On March 2, 2009 short-ts ified as ilable-f le) costing

$72,000 were sold for $85,000.

~

. The company paid a cash dividend on July 1, 2009.

©

. The bad debt expenses for 2009 were 28,000.

»>

. Major repairs of $13,000 to the equipment were debited to the Accumulated
Depreciation account during the year. No assets were retired during 2009.

o

. The wholly owned subsidiary reported a net loss for the year of $32,000. The loss
was recorded by the parent.
Required:
Prepare a statement showing cash flows from operating activities for the year ended
L December 31, 2009 by using indirect method.
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Problen 2 (10%)
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